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q 2
(3) q, 9, q, ’ q,
2d=B q
‘ B 3d=B 1
\Y
5 ql_qZ_% Ch:%(l“'%ej ql=% 3d
V(, 2e =V
) % =5 1‘3 q,=0 =
o|_xv(, 6e)_ 10055 (  6x020)_|96.9KkN/m
9,] BLU B 1.75 WA 18.1kN/m”*
5.9
0=600kN/m’
10
Fs=Jdo _ 000 5230 (0K)
q, 969 B
—>e
6
E >3
2e
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1 6 L
6.1
8]
0.7 M
oo L (H=1.50 m)
l_ =1. m
F5=M21-5(1-2) 100
! —> | g=10 kN/m?
P, =—iD;’K
=21 Kp Py iis
Kp =tan2(45+%)
G )
1,500 7=19kN/m?
510 1,380 #=30
12 300
vy vi2 100
q=10kN/?h t N 980 N
1,100
E
£ 6.1
o
()
0=10 kN/m’
3)
=19 kN/m*
#=30
511 )
5.11 g, =(30 50)H
0:=150kN/m’
g, =(30 50)x3=90 150 kN/m’ )
0,=96.8kN/m? Ou=24 N/mm?

%=24.5 kN/m*
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(©) _0.0735

¢ = =0.27m
SD295A 0.274
2
6.2 ()
6. !
A): A X
oo m | m | Am) | xm ()
4=10 KN/ 0.020 | 1.380 0.0138 0.113 0.0016
i i i l i i l i i 0.98 1.380 1.3524 0.610 0.8250
f SIS 0.98 0.020 0.0098 0.773 0.0076
. S 1376 0.8342
1,500 W, =1.376 x19 = 26.14kN/m
180 0.8342
s = 1‘376 =0.6lm
// N |
120 [ ‘100 R 3)
fo 080 T W, =1.00x 10 =10.00kN/m
0 o A X, =0.10+1.00/2 =0.60 m
4
6.2 @
a)
6.3
6.1
A X
m | m | Am) | xm) (o)
0.100 | 1380 | 0.1380 0.050 0.0069 p 30
K, =tan?| 45— | =tan?| 45— —|=0.
0020 | 1380 | 00138 0.107 0.0015 A = tan ( 5 2j tan ( 5 zj 0.333
0120 | 0120 | 00144 0.060 0.0009
0980 | 0100 | 0.0980 0.610 0.0598
0980 | 0020 | 0.0098 0.447 0.0044 B =P = L2150 29) 2 L0t 5200333 10 2219 ) Cravm
S 0.2740 0.0735 2 H) 2 19x1.5
@ H 3g+H 15 3x10+19x15
Ypo=— =—x =0.60m

T3 2q+H 3 2x10+19x1.5
W, =0.274x24.5=6.71 KN/m
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<

_ 3=0.866m _
) =10 kN/m? =10 kN/m?
RN FETE IR ‘
H=1.50m H=1.50m
N lee—d Pa
\\\\ . /l/ y é‘ +
w\/‘\wx Ya {\ Ya
v > - ¢: M v y .
B=llom | @A=%+7 B B=1.10m _|
6.3 6.4
b)
S (6.1
1+\/M 1+E—JM—1=0(6¢)
cosd M cos S
O=224 6.1)
1+\/Sln(30—22-4)sm30 \/1+ 2x10 \/sm(30+22.4)sm30 o0
cos22.4 19x1.5 cos22.4
2 2
30
= — r = = — =0.29
cossi1s [SNES)sing [ iy \/Sln(30+22.4)sm30
cos & cos22.4

22

Py =Ly H2 K, 120 | = Lok .52 %0.296x[ 14220 | Z10.77K/m
2 7-H 2 19x1.5
K, &
e 30 35 6.5 Ka 6.6
0.34
0.33
0.32
031
#=35
0.30
K, o029 50)
0.28
0.27
026
#=30
0% i
o TR
0 02 04 06 08 1 12 14 16
29
M
6.5Ka 6.6O
Pay = Py sind =10.78 x sin 22.4=4.11kN/m
Papy = Py cos 9 =10.78 x cos 22.4 =9.97kN/m
H 1. 10+19x1.
YAZ—'3q+]/H :_5X3>< 0+19x 520.60m
3 2g+H 3 2x10+19x1.5




Xy =B=1.10m

13

— 1T ——>

6.7
6.2)
B sin(w — @)
A_cos(a)—qﬁ—a—é') (62)
6.7
6.3)
W=[tana+ ! J[}H2+QHJ (6.3)
tan @ 2
(62)  (6.3) 64
2
PA—K(}/;' +qH] (6.4)
6.5)
_dP _
Pa=—y = KbH +a) (65)
(6.5)

()
a)
6.2
\4 H X y V x H'y
6.71 0 0.27 1.81 0
26.14 0 0.61 15.95 0
10.00 0 0.60 6.00 0
0.00 12.11 0.60 0 7.27
> 4285 12.11 23.76 7.27
d= 2VX—2Hy _ 23.76-17.27 ~038m
Vv 42.85
B 1.1
e=—-d=—-0.38=0.17m
2 2
b)
6.3
\4 H X y V X H'y
6.71 0 0.27 1.81 0
26.14 0 0.61 15.95 0
0 0 0 0
4.11 9.97 1.10 0.60 4.52 5.98
> 36.96 9.97 22.28 5.98
2Vx—2H 22.28-5.
d= y 22287598 t4m

Y 36.96

e=2 g-L ou-0iim
2 2
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6.3

B 11
e, =—=——=0.18m
6 6

e=0.17m<e;=0.18m (OK)

=E= L1 =324 3.0 (OK)
2e  2x0.17

t

e=0.11m<e;=0.18m (OK)

B 11
Y 2e 2x0.11

=5.00 3.0 (OK)

2

1=0.6

3V 4285
SITRAETRY

Fs

SV 36.96

Fs=——py="2"x06=222>15 (OK)

>H a 9.97

)

x0.6=2.12>1.5 (OK)

Bl B a

1.1 1.1

P)
Oma=75.08KN/m’<q,=150kN/m*> (0.K.)

q.}:&(H@j: 42.85X(1+6x0.17

q| =zVv 6e) 36.96 6x0.11 53.76kN/m?
=2 1x=1= x| 1+ = )
a, B B 1.1 1.1 13.44kN/m

=33 76kN/m’<q;=150kN/m*> (O.K.)

6.4
100
> |« =10 kN/m?
LY
|l Pa
h=1.38m o
a+s\ 4
Ya
v
]
12
| e
6.8
M

24-2 0.02
30 6:_ :_X30:20 =t 71—:0.8
" 3973 Y
cos’(p—a
K, = (¢ ‘) —
cos’ arcos(ar+8)1+ M
cos(a +J)cosa

B c0s?(30-0.8) 0303

2
sin(30+20)sin 30
c0s(0.8+20)

c0s%(0.8) x cos(0.8 + 20)x{1 +
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1 2q)_1 2x10 S 9.03x10°
Py =—h?K, | 1+ | = =x19x1.382 x0.303 x| 1+ =9.66kN/m =2 227 0.13N/mm=<T=0.39N/mm*> (OK.
n=gh A( ;hj 2 ( 19><1.38j T hd ~ 1,000% 70 s T mm” (OK.)
Pan = Pa cos(a + ) = 9.66 x c0s(0.8 + 20) =9.03kN/m 4)
z=1.0m 12
R
+ X + X1.
Pa, :lyzzKA 1429 = L 1951.02 %0303 14229 | =5 911n/m
Q) 2 7Z 2 19x1.0
S:PAH:9.03kN/1’1’1
M =Py ¥a =9.03x0.56 =5.06kN m Papz = Pa; c0s 8 =5.91x cos(0.8 + 20) =5.52kN/m
©)
] _Z. 39+ 2 =ﬂx 3x10+19x1.0 0.42m
b=1,000mm d =120-50 =70 mm 3 2q+y7z 3 2x10+19x1.0
M, =Py, Y, =5.52x0.42 =2.32kN m
A5=1)10@125mm=71.33x1’102050=570.6mm2 T
d, =d, +ztana = 50 +1,000 x tan 0.8 = 64 mm
mp=nt Z15x 3706 (10 2o
bd 1,000 x 70
k =4/(np)? +2np —np =+/0.1222 +2x0.122 — 0.122 =0.387 i= %
jzl—gzl—@zoml M, = o, A jd, =1éox¥x%x64 2.55>10°N mm=2.55kN m M,=2.32kN m
( )
6
o, = _2M2 - 2x5.06x10 —  6INMM<0=8.0N/mm’ (0K.)
kibd?>  0.387x0.871%1,000 x 70 o 180
|0:—5‘5l ¢ = x10 =281 mm
47, 4x1.6
6
o =M ____506x10 145N/mm’<Cy=160N/mm? (O.K.)
Ajjd  570.6x0.871x 70 n=2-l,-d, =1,000-281-64 655mm - 0.6m
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D10@125mm
- —]

>

_—

Il

B=1,100m

6.4

1
!
D10@125mm | | |
I
d=79 ||jzs0 8@125=1,009 F
(@)
6.9
6.5
6]

a)

W, = %x (0.1+0.12)x0.98%x24.5 = 2.64kN/m

(OO i
b)
6.2(2) W=26.14kN/m  x=0.61-0.12=0.49m
©)
6.2(3) W,=10.00kN/m  x;=0.6-0.12=0.48m
d)
6.3(3) 0,=75.08kN/m*>  0,=2.83kN/m’
0 =75.08 - 5082283 .12 = 67.20kN/m’

R = %x(2.83+67.20)x0,98 =34.31kN/m

0.98 2x2.83+67.20
R = 2T 2T ) 34m
3 2.83+67.20

B=1,100m

(b)

« 3@125=1,00Q
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X(m) M(kN
V(kN/m) m/m)
2.64 0.48 1.27
26.14 0.49 12.81
10.0 0.48 4.80
-34.31 0.34 —11.67
> 447 7.21
012
—
w, g=10 kN/m?
U TIT]
S
WS
ey
1.38m 1.40m
LN
0.12m 1 0.10m
W, a
q a A
% |R
0.12 L=0.98m
5 e >l
B=1.10m >
6.10
S=4.47kN/m

M=7.21kN m/m>541kN m/m

@



